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(1) R2~Ref & 75 1R 148

X |BEEORBEBE = ( HI6~H0RREEY + H2I~H5IRBEEH + HO6~HIOEMEMM + R~REEEHRTFTAMTY ) x FREM
x 70,325,000 = ( 1,167 + 919 + 433 + 294 ) X 25000
RIIZHAEE | = MRS x |BEEORBERLE| = ( H2I~H25ERMEMY + H26~HIOBRMEMY + R2~REERBFRE + RI~RUGRTAKTEY ) x FFEE
307,500,000 = 5% X 61,500,000 = ( 919 + 433 + 588 + 520 ) X 25000

RI61CE £ iR ILEE

RI2~RIGIZHHAEE | =  HF < |BEEORBERBHH = ( HO6~HIOEBEEH + R~ROEMFAH + RI~RUGHRPHR + riz~RIGERTANTY BB
341,375,000 = 5F  x 68,275,000 = ( 433 + 588 1,040 + 670 ) X 25000

(4) RIT~R21 V& S5 1R AR

x

+

R17~R21424 = BB x [HREEORBERHE = ( R~ROEGEMTFRY + RI~RIGERFPHHE + R2Z~RIGERTFUE + RU~RIGHRFARTSY ) x HREE
= B X = ( 588 + 1,040 + 1,340 + 660 ) X 25000
x | BEEORBEBE = ( RI~RIGHRTFRHN + R2~RIGGERTAN + RIT~RAGHRFAM + ro~reustPagsy ) x FREME
x = ( 1,040 + 1,340 + 1,320 + 421 ) X 25000
(6) R27~R311V & IR MEE
R27~R31i2# = HiR  x (BEEORBEBE = ( RR~RIGERTAN + RIT~RAGHRTAR + R2~R6EJRFAK ) x BREME
: 54 x = ( 1,340 + 1,320 + 842 ) X 25000
(7) R32~R364% & 7514 4R
R32~ R36#; | = I x |[BEEOREESBHE| = ( RU~RAGHRTAH + R2~RGEJRFAK ) x BREM
270,250,000 = 5F xm= ( 1,320 + 842 ) x 25000
(8) R37~R41LE EF5IRMLER
R37~R41124t = MR x |[BEEORBEHBE - R22~R26EIMF A x HIREM
= 5% X 21,050,000 = 842 X 25000
(9) REEBIRHEMRE
RIKE = R2~ROIZ{HHEE + RI~RIRHIREE + RI2~RIGIREKE + RIT~R2HRMKE + R2~R26IRHLIAEE + RI~RIRHKEE + RI2~RIGIFMHMEE + RIT~R4EHLRE
= 351625000  + 307500000  + 341375000  + 453500000  + 515125000  + 437750000  + 270250000  + 105,250,000
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